1.51

1.0

0.5-

y (m)

—0.5 1

_1_0_

—1.51

1.5

1.0

0.5-

y (m)

—0.51

—1.0 1

—1.5+

80 -

60 -

pixels

40

20 1

100 -

pixels

Run 15243, integration on 12 samples

HG pedestal [ADC]

0.0 -

o® ot %
3" ® f ﬁ$..0..
‘o.: 1 i s %
R . d°
[ 2% oo % ° 4 ) 8
® L :. o %0
p ) : o %o 01
Ao g .o B Pt e s
. : .“.: % $.: ® -‘?{} P
* 3 % ®  Pog *s %
R ELLC 21 IR
......’$ .:..* o..’:‘: . ’e
® o _ % ® ¢
o 0° % ¢ o ol & RIS §
.&}.o * . ®
.‘:. Y.’
[ Rae
| | EngilneeringCIameraFrlame
-1.0 -05 0.0 0.5 1.0
X (m)

HG pedestal std [ADC]

0.0 -

[ ]
] ® L )
e }‘o*‘%“u ® *
‘e 1 ¥R b a.\.f
RaRaly sig® WA T,
:o % °% o..o. oo
I RSy USRI TR
TeR., b ....;. gt %
oo .Bo ..$ Sl W, Solg,
‘* L ® }30.0.. ‘e
e AP RRR RO 3
L S8y § ¢ % N o:'o s °
BT Tl ekt
9
n LT R I
e YRt
P LS
| | EngilneeringCIameraFrgme
-1.0 -0.5 0.0 0.5 1.0
X (m)

—10

—12

32

-30

-28

26

24

22

B HG Median -5.28, std 2.47

—-12.5-10.0 -7.5 -5.0
HG pedestal

—-2.5 0.0

O_
—10.0

B LG Median -4.60, std 2.00

-75 =50 =25

LG pedestal

0.0

2.5

LG pedestal [ADC]

30

28

-26

-24

22

20

18

16

34

1.51
®
1.0 o qe’
. L .. s
s’ o . 3
[ :“ od d
05 r ® e® ., .“ ®
% *® °
g .s o ... s ...’.f e*
~ O-O_ ....’.... e
® ° p ]
> ® ’ ° £Le -’ o..
£ ¢® s 3¢ o .’:.o
—-0.5 % ¥ e % Y
...{ e B4 . ® [ :
® . ..’ ! L]
—10' ’
t " d
—1.51 | ___EngineeringCameraFramej
-1.0 -0.5 0.0 0.5 1.0
X (m)
L5 LG pedestal std [ADC]
1.0
0.5 1
g 0.0 1
>
—0.5 1
—1.0 1
—1.5- . | EngilneeringCIameraFrzlame
-1.0 -0.5 0.0 0.5 1.0
X (m)
1201 EEE Median 26.18, std 1.92
100 -
80 -
(7]
[
X 60
o
40 A
20 -
O_
22 24 26 28 30 32
HG pedestal std
B Median 20.00, std 1.89
120 1
100 1
80 1
wn
[
X
o 60_
40 -
20 1
0 ;

15.0 17.5 20.0 225 25.0 27.5 30

LG pedestal std

.0



600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 15243, pixel 0
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Run 15243, pixel 0
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